Dividing Money (B)

—_

i

10.

Calculate each quotient.

52 ) £5106.40 2. 20) £1572.00 3. 12) £636.00
80 ) £3120.00 5. 67) £3872.60 6. 77) £5775.00
63 ) £5758.20 8 93) £2473.80 0. 42) £2469.60

If 65 identical backpacks cost £2899.00, how much did each backpack

cost?
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Dividing Money (B) Answers

10.

£98.20

52 ) £5106.40

—£4680.00

£426.40
—£416.00

£10.40
—£10.40

£0.00

£39.00

80 ) £3120.00
— £2400.00

£720.00

—£720.00

£0.00

£91.40

63 ) £5758.20
—£5670.00

£88.20

—£63.00

£25.20

—£25.20

£0.00

Calculate each quotient.

£78.60

20 ) £1572.00

—£1400.00

£172.00
—£160.00

£12.00
—£12.00

£0.00

£57.80

67 ) £3872.60
— £3350.00

£522.60

—£469.00

£53.60

—£53.60

£0.00

£26.60

93) £2473.80
— £1860.00

£613.80

—£558.00

£55.80

—£55.80

£0.00

3.

6.

£53.00

12 ) £636.00
— £600.00

£36.00
—£36.00

£0.00

£75.00

77 ) £5775.00
—£5390.00

£385.00
—£385.00

£0.00

£58.80

42') £2469.60
— £2100.00

£369.60
—£336.00

£33.60
—£33.60

£0.00

If 65 identical backpacks cost £2899.00, how much did each backpack

cost? £44.60
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